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Directions (Q 1-8): Each of the following sentences has been
divided into four parts a, b, c and d. You are required to spot the
part which has an error. If the sentence is correct, your answer
is ‘d’.

1. I must start (a)/ at dawn (b)/ to reach the station in time (c)/ No
error (d) 2. As soon as the teacher entered (a)/ everyone fell (b)/
in a silence (¢)/ No error (d)

3. They walked (a)/ besides each other (b)/ in silence (c)/ No
error (d)

4. On a holiday (a)/ Madhu prefers reading (c)/ than going out
visiting friends (c)/ No error (d)

5. After opening the door (a)/ we entered into the room (b)/ next
to the kitchen (c)/ No error (d)

6. My niece has been (a)/ married with (b)/ the richest man of the
town (c)/ No error (d)

7. My brother (a)/ has ordered (b)/ for a new book (c)/ No error
(d)

8. This watch (a)/ is superior and (b)/ more expensive than that
(c)/ No error (d)

Directions (Q 9-14): In each of the following questions choose
the word which best expresses the meaning of the given word.
9. CITE

(a) Quote (b) Ignore (¢) Overlook (d) None of these

10. MORBID

(a) Cheering (b) Cheerless (¢) Sunshiny (d) None of these

11. FLABBY

(a) Firm (b) Hard (c) Solid (d) Light

12. DEMISE

(a) End (b) Birth (c¢) Nativity (d) None of these

13. PRISTINE

(a) Traditional (b) Expensive (c) Original (d) None of these

14. INTERIM

(a) Temporary (b) Long-term (¢) Permanent (d) None of these
Directions (Q 15-19): In each of the following questions choose
the one which can be substituted for the given word/sentence.
15. One who engages in deception under an assumed name or
identity

(a) Imposter (b) Incredible (c) Improbable (d) None of these

16. A person who is aged above hundred years

(a) Idolatry (b) Centenarian (c) Extempore (d) None of these

17. Occurring or coming into existence after a person’s death
(a) Posthumous (b) Sinecure (¢) Monarchy (d) None of these

18. Travelling from place to place, especially to perform work
or a duty

(a) Itinerant (b) Irrelevant (c) Infallible (d) None of these

19. Worship of idols

(a) Illegal (b) Illusion (c¢) Idolatry (d) None of these

Directions (Q 20-25): Find the wrongly spelt word. If all are
spelt correctly the answer is ‘e’.

20. (a) Termination (b) Culmination (¢) Determination

(d) Defination (e) All correct

21. (a) Naration (b) Neolithic (c) Nostalgia (d) Nocturnal

(e) All correct

22. (a) Allowance (b) Allusion (c) Alltogether (d) Alternative

(e) All correct

23. (a) Restaurent (b) Retinue (c) Rickshaw (d) Requirement

(e) All correct

24. (a) Clothing (b) Gathering (c) Actualise (d) Reproach

(e) All correct

25. (a) Confedration (b) Camaraderie (¢) Cataclysm

(d) Carboniferous (e) All correct

26. The Gayatri Mantra contained in the Rigveda is dedi-
cated to which deity?

(a) Agni (b) Surya (c) Savitri (d) None of these

27. Who wrote the famous book ‘We, The People’?

(a) Triloki Nath Kaul (b) Jehangir Ratanji Dadabhoy Tata

(c) Khushwant Singh (d) Nani Palkhivala

28. Jayadeva, who wrote ‘Gita Govinda’ was the court poet of
(a) Laxman Sen of the Sena dynasty (b) Dharmpala of the Pala
dynasty (c) Gopala of the Pala dynasty

(d) None of these

29. The Mubarak Mandi Palace is located in

(a) Assam (b) Jammu and Kashmir (c) Uttar Pradesh (d) Madhya
Pradesh

30. Probodh bought 30 kg of rice at the rate of Rs 8.50 per kg
and 20 kg of rice at the rate of Rs 9.00 per kg. He mixed the
two. At what price (App) per kg should he sell the mixture in
order to get 20% profit?

(a) Rs 9.50 (b) Rs 8.50 (c) Rs 10.50 (d) Rs 12.00

31. Which of the following rivers does not meet the Bay of
Bengal?

(a) The Vaigai (b) The Godavari (¢) The Mahanadi (d) The Tapti
32. The city of Nasik is situated on the banks of which of the
following rivers?

(a) The Krishna (b) The Mandovi (c) The Godavari (d) The Tapti
33. The members of the State Public Service Commission are
appointed by the

(a) The Chief minister (b) The Chief justice (c) The Governor
(d) The Vice-President

34. The Ratha Yatra at Puri is celebrated in honour of which
Hindu deity?

(a) Rama (b) Jaganath (c) Shiva (d) Vishnu

35. The salaries of A, B and C are in the ratio of 1 : 2 : 3. The
salary of B and C together is Rs 6000. By what per cent is the
salary of C more than that of A?

(a) 100% (b) 200% (c) 300% (d) 600%

Directions (Q 36-39): In each of the following questions there
is a certain relationship between two given words on one side of
: : and one word is given on another side of : : while another
word is to be found from the given alternatives, having the
same relation with this word as the words of the given pair bear.
Choose the correct alternative.

36. Clock : Time :: Thermometer : ?

(a) Heat (b) Radiation (c) Energy (d) Temperature

37. Muslim : Mosque : : Sikh : ?

(a) Golden Temple (b) Medina (¢) Fire Temple (d) Gurudwara



38. Paw : Cat : : Hoof : ?

(a) Horse (b) Lion (c) Lamb (d) Elephant

39. Eye : Myopia : : Teeth : ?

(a) Pyorrhea (b) Cataract (c) Trachoma (d) Eczema

ANSWERS
1. (b, replace ‘at’ by ‘by’) 2. (c, remove ‘a’) 3. (b, replace ‘be-
sides’ by ‘beside’) 4. (c, replace ‘than’ by ‘to’. The verb ‘prefer’
takes preposition ‘to”) 5. (b, remove ‘into’, ‘enter’ does not take
any preposition) 6. (b, replace ‘with’ by ‘to’. The verb ‘marry’
takes preposition ‘to”) 7. (¢, remove ‘for’) 8. (b, add ‘to’ after
‘superior’) 9. (a) 10. (b) 11. (d) 12. (a) 13. (c) 14. (a) 15. (a) 16.

(b) 17. (a) 18. (a) 19. (¢) 20. (d, Definition) 21. (a, Narration) 22.

(c, Altogether) 23. (a, Restaurant) 24. (e) 25. (a, Confederation)
26. () 27. (d) 28. (a) 29. (b)

.. 30 _ 9.00-Price of mixture per kg
30. (c) Explanation: 20 Price of mix. per kg — 8.50

or, 30x price of mix. Per kg — 225 = 180 — 20x price of mix per
kg.

or, Price of mix. per kg = 180;5 33
=Rs 8.70

. 120
. SP of the mix. per kg = 8.70x 159
=Rs 10.44

=Rs 10.56 (App.)

31.(d) 32.(c) 33. (c) 34. (b)

35. (b) Explanation: Let the salaries of A, B, C be x, 2x and 3x
respectively.

Then, 2x + 3x = 6000 = x = 1200.

. A’s salary = Rs 1200, B’s salary = Rs 2400, and C’s salary =
Rs 3600.

.. Excess of C’s salary over A’s = [%”00]% =200%.

35. (d) Explanation: The first is an instrument used to measure
the second. 36. (d) Explanation: The Second is the pace of wor-
ship for the first. 37. (a) Explanation: The First is the name

given to the foot of the second. 38. (a) Explanation: The Second
is a disease of the first.




